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General Instructions :-

(i) YA 1ASTH AT AG-IT0T T ) Tl T W 1 3% Areifea B
¥ T IR U Ie2 AT U Ay | forfan

Question No. 1 to 5 are very short answer type questions. Each
question carries 1 mark. Answer should be given in 1 word or 1

sentence,

(i) T 6 10 T TH I T 2 e B (e HiAT-30 ¥1<3)
Question No. 6 to 10 carry 2 marks each. (word limit-30 words)
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(2)
\ 1 ]
(:ﬁ) T HNE 11 T 22 3 T4 TH W3 a3t Wrafed &

(31 HT-50 o)
Questiog No. 11 to 22 carries 3 mark each. (word limit-50 words)

(iv) W I 23 T 4 3 8] (3153 HT-70 1<)
Question No. 23 carrics 4 marks. (word limit-70 words)

(v) . 24 ¥ 26 T TS TH W 5 3 81 (IR HHT-100 7152)
Question No. 24 to 26 carries 5 mark each. (word limit-100 words)

(vi) & sravE €, qut v wfieR ford v = amifed o ad

Write chemical equation and draw clean and labelled diagram
wherever necessary.

[sifa Sg-zadta we ]
[Very Short Answer Type Questions]
we-1  siifas srfereivor s efonfya R 1

Define physical adsorption.

w2  Feafefeg St deem e & g dfd (1]
43m 3Afaa g2 &

Write the structure of following organic halogen
compound.
4-Bromo 3-methyl pent-2 ene

-3 o vt w3 st Turent & wed i fafag) 1l
() W=

(I1) 2,4,6 TrgTE2t FHHTE
(II1) BT
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(3)

Write the order of decreasing acidic character of the
following compounds.

(I) Cyclohexanol
(I1) 2,4,6 trinitro phenol
(IiT) Phenol

a4 o fafea &t iR 1

AE __ FICE @R agas &
Complete the following.

Cellulose is a linear polymer of i

w5 Gieese W 2, sk ae o i faa b vew IR (1]
freispma T TMUETER 3 59 & R 1 1 SRR FE
R R fret fafaa ve & sw &
= T T 8, JaHT U 6T ST fafey
Formaldehyde is.& gas and is soluble in water. It is used
as a disinfectaixt and as a germicide. On the basis of the
above infarmation answer the following question :-
=> What is formalin and its main use?

[T 5]
_ [Short Answer Type Questions]

w6 iR varfie v # Pl AR, o e 2]
v &1 T T
RNH; +CHCl; +3KOH(m) S —————

Complete and name of the following reaction.
RNH2 +CHCI3 +3K0H(ak:.) —p————
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(4)
AT 20% (SANH/EAAH) QR rtee & sreltd faeaa H
F oA 1.202 aw/firchiclies R, @ 36 faega f wiean

Fra HifsEh s Qv Tyt s & srvifas s
FH: 39 T 127 B

If the density of 20%6 (mass/mass) aqucous solution of
Potassium lodide is 1.202 gml"]_ Then find the molanty

of this solution. Where, molar mass of Potassium and
lodine 1s 39 and 127 respectively.

TH-8 AR & ATTES F AW T g7 Rt 2]
Write the name and formula of Sulphur Oxide.

TH9 U TERAS Atufwar & i frarams S arsmr o i 20 12]
mier i Sftet foram mam ged fo sefemrTe 30 e
g3 3t 3adt arsafa0 M gt ol et sy R ma,
dl 1 |2 93 50%% forarames Sty & wmar &
I FEAE B SR A oy Frened o o &
s e & Jmar w sffrar 6 | w @

For a chemical reaction, the concentration of reactant was
initially taken to be 20 mole/litre. For this, the half life
period obtained to be 30 minutes. If its concentration was

taken to be 40 mole/litre initially, then after 1 hour 50%
of the reactant remains.

On the basis of above observation

what wi
conclude? What will you

will be the order of reaction?
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&)

w-10

. a-11

a¥t-12

T -13

YR W Al st wé e onf ot 8, g e @ 121
T EE G0 A1 T8 R 7 H} g1 areft &, 4it7 wacor

Pure and freshly distillated aniline is colourless, but

when kept open, it tums brown colored after some time,
why? Give the equation.

GRESUCE ]
[Short Answer Type Questions]
o i agors 7 & I Rfm fabfs vty [2+1=3)
&1 daer T fafadh

What is a biodegradable polymer? Give an example of a
biodegradable aliphatic polyester.

() S JAEQT =T E? [1+2=3]
What is energy barrier?

© (i) AR T A Res e @ s fafah

Write any two differences between rate of reaction
and rate conitant.

(30 Frerfirits s At &y RRe m
T ESEEE! R () IR
Write the formulas for the following co-ordination

compounds :-
Tetra hydroxo zincate (1I) ion.

@ NiCN)4 P~ I vl &, Jafe 2]
Ni(Cl, 2~ Ire s §, =i
[Ni(CN)4 12~ ion is diamagnetic and the
[Ni(C1)4 ]2~ ion is paramagnetic. Why?
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(6)

-1 FETEEE e FEd 87 30 § SUREa FisEse H AW 13]
it .
ot 3 it o wreTersee e T A Eia war ¥

What are carbohydrates? Write the name of the
carbohydrate present in milk. In what form are
carbohydrates stored in the body of animals?

TEE-15 (i) Beed IR e, AfE T}, @i | [1%]

Halogen form interhalogen compound, Why?
(i) FFE NI H TGS TGA FA B §, 1?2 [1%]

Boiling point of inert gas is very less. Why?

q-16 () Mo feuts s Rads #t gioafya fifmg 11}

@) &I H TG | IUSEHE T W 373K AR, 2]
Safd | AT Gohret T Tl faeaT 373.52K |
Farerar & wE RSN
(a) Define the ruolal freezing point depression constant.
(b) The bojlig point of pure water is 373K at 1
atmospheric pressure, whereas an aqueous solution
of 1 molal sucrose boils at 373.52K. Explain.

T¥A-17  (3) i gandt 41 &7 [2+1=3]
(@) S HT foror g e et d A T e §, @
1 8oy Q4
(a) What is an adsorption Isotherm?

(b) What will be observed when a beam of light is
passed through a colloidal solution?
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M

TEA-18 () T & Ferdor & g o i w Ima amift RE (2413
g

(@) ST # T ot Y T it 2 afreor A
(a) Draw a well labeiled diagram of blast furnace used

in extraction of iron.
(b) What is the role of lime stone in smelting process?
Give equation.
UgH-19  (37) W 9T GRS 1 29 87 O a7 e [1%]
@) FAT TS T 2 G e A [1%]

(a) What are food preservative? give an example.
(b) What are artificial sweetening agents? Give an
cxample.

20 SN2 (R-31p) T S vhrare JutRr R 131

I ST §AARY
What is SN2 pucleophilic substitution reaction? Explain
with an exantpie.

T¥v-21 mﬁiﬁmaﬁaﬁihﬁﬁmﬁnﬁgﬁ%mm 13]
(1) ffrsrfaa
() THRERE T
(3) HEJA W@

Explain the Haber’s process of ammonia under the
following point-

(1) Principle of law

(2) Chemical reaction

(3) Any two uses
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(8)

WeR-22 (3 e et A facwar & wor e fifvg [1+2=3]
@) et TarafiE gHEor e e I AW
fofy, 9= Trggiem IS dfve o o & Wi
frmraar d

(A) Explain the reason of solubility of phenol in water.

(B) Wrte the chemical equation and name the main
product when Hydrogen iodide reacts with Benzyl
Ethyl Ether.

SRS
[Long Answer Type Questions]
W23 (F) HAIEE & AqH T wFNm H AT - [1]
T
@ e g P sqeradie Rfse & s agd) 1]
(@) o-¥HR & AT - wug & ot ) srafifa 1
FARTALE

(a) Draw adiagram of the centered unit cell of the
cubic lattice.

(b) Draw a figure for tetrahedral voids formed by
spheres. |

(c) n-type of semiconductors are formed by doping
which group of elements.

(d) What is the meaning of ferromagnetic solid?

Jaar
OR |
(30 mmmtﬁamaﬁﬁwmmﬁi

15y

1]
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)

@) Mz e e s & fm sy i
(@) p-YFH IUATTH FT T 374 2 (1
@ vhdrgafasmamId Y 1]

(a) Drawadiagram of cubic lattice face centred unit cell.
(b) Draw a figure for octahedral void formed by

spheres.
(c) What is the meaning of p-type semiconductor?

(d) What is the meaning of Antiferromagnetic solid?
[Eie-3a v
[Long Answer Type Questions]

WEA-24 T AIoR SR THE T HIHR RIS T3 T Qe [3+1+1
TRIE T & 4 faea verafis G & amifsa e 7 =5}
L ENGEIE R

W A it v At i @ g aes @ f
TORT HIE, Fafd TR IS S R’ wrives e ares
T HTAE +0.34V: 8
Show the Jdabelled diagrammatic presentation of
electrocheitical cell which have Copper electrode having
one molar Copper sulphate electrolvte and standard
Hydrogen electrode.

Write -the cell reachon and find the standard
electromotive force for this cell. When the value of

standard electromotive force for Copper electrode is
+0.34V.

L1
OR
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(10)

O R S e 9 I TS UF IO RIggiom  [3+1+1
RIS I & o Fargg e St st iR e g =$|

NHANGEIIED]

T At i A Al g e Rga s sa &
VAT I, Srafh AT T & fordy won fores e amee
T HTAA .44V B
Show the labelled diagrammatic presentation of
electrochemical cell which have Iron electrode having

onc molar Ferrous sulphate electrolyte and standard
hydrogen electrode.

Wrte the cell reaction and find the standard
electromotive force for this cell. When the 'value of
standard electromotive force for Iron electrode is —0.44V,

YH-25 (37) WIEATE, 59 ;- 1]
IR STEhINE B T, W 31T T Wi
FANES & W fRarsirar &1 (Faa e
wftaor fiRd)|
@ TiOy) & ¢, 5k TiCly T8, T4 | 1]
() HFRATAA SrrenTt AT T R, ol AR 2]
(@) IR (Cesq) 1 T e forfdh [1)

(a) What happens when :-

~ Potassium dichromate heated with conc, Sulphuric
Acid and Sodium Chloride. (write only chemical
reaction)
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)

(b) TiO, is white, while TiCly is coloured, why?

(c) Transition elements form interstitial compounds.
Describe.

(d) Write the electronic configuration of (Cesg)
Cenum.

HAQT
OR

(31) 41 &YaT &, S Wiy wirRe sl arem o 1
JTfera v A Fomar e 81 [Fae e

i i)
@ Cc* qur Fet 3§ § 91 wae srrams &2 sl 1]
@) EHF o G5 A wra &, Fui Al | Im
@) TRETH (Lrygz) g Rraw fafed m'

(a) What happens when :-
Potassim permanganate reacts with oxalic acid in
acidic ' medium. [write only chemical equation]

(b) Which is a stronger reducing agent Or2t or Fe2t
and why?

(c) Transition elements form complex compounds.
Describe.

(d) Wnite the electronic configuration of Lawrencium
(Lrp3).
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(12)

aw-26 () WM%WWWW& 12]
AehIerar B HYET I B &,
@) Frefrfa srfifmars ) qefeor afeq qui R
(i) TS e (1]
| (i) e srtufear (1]

(a) Boiling point of carboxylic acids are higher than
alcohols of comparable molecular mass, why?
(b) Describe the following reaction with equation :-
(i) Aldol condensation
(i1) Schmidt reaction

o
OR , |
(30) A F FaYIF TG FHTETE YfesemEe A e 2]
@ Frafafas i @ axfteor afea aofr i
(@) FEEm srtfear [1%]
(i) e sfufsar [1%]

(a) ‘Boiling point of Ketone is somewhat more than
corresponding isomeric aldehyde, why?

(b) Describe the following reaction with equation :-
(1) Cannizzaro reaction
(ii) Stephen reaction

e o e o ol ok e ok
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